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1. 

a)  b)  c) 
d) e) 

2. 
   
   
 

a) 
b) 
c) 
d) 
e) 

3. 

a) 
b) 
c) 
d) 
e) 

4.   


a)  b)  c) 
d)  e) 

5. 


a)  b) 
c) 
d)  e) 

6. “ 
”     

a)      


b) 
c) 
d) 


e) 

7. “

   ” 



a) 

b) 

c)  

d) 

e) 

8. 





a)   

b)   

c)   

d)   

e) 

9. 



“”
a) 

b)  c) 

d)  e) 

10. 

a) 

b) 

c) 

d) 



e) 

11. 

a) 



b)  



c)    



d) 


e) 

12. 
a) 
b) 
c) 
d) 
e) 


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13. 

a) 
b) 
c) 
d) 
e) 

14. 
a) 

  
b) 

  
c) 

  
d) 

  
A B C D A B C D

a) 1 2 3 4 b) 2 1 4 3
c) 3 4 2 1 d) 4 2 3 1
e) 

15. 

a) 
b) 


c) 
d) 
e) 

16. 
 (A)    
 

 (B) :   
.

a) (A)  (B)  
b) (A)  (B)  (B) 


c) (A)   (B)  
d) (A)  (B)  (B) 

(A)  
e) 

17. 
(A) 
(B)  

a) (A)  (B)  (B)   (A)


b) (A) (B)
c) (A)(B) 
d) (A) (B) (B) (A) 


e) 

18. 
a) 

  
b)   


c) 

  
d)   



A B C D A B C D
a) 1 2 3 4 b) 4 3 2 1
c) 2 1 4 3 d) 3 4 1 2
e) 

19. 
   

a)  b) 
c)  d) 
e) 

20. 
a) 
b) 


c) 
d) 


e) 

21. 
a) 
b) 
c) 
d) 
e) 

22. 
“”
a)  b) 
c)  d) 
e) 

23.   

“”
a)  b) 
c)  d) 
e) 

24. ‘’

a) 
b) 
c) 
d) 
e) 

25. 
a) 
b)    


c) 
d) 
e) 

26.“   ”  
   

a) 
b) 
c) 
d) 


e) 
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27. 

    

a)  b) 
c) 
d)  e) 

28. 

a) 
b) 
c) 
d) 
e) 

29. 
 


 


 


 
a)  b)  c) 
d)  e) 

30. 
‘’
a) 
b) 
c) 
d) 
e) 

31. ‘
’

a)   
b)   
c)   
d)   
e) 

32. ‘
’


a) 
b) 
c) 
d) 
e) 

33. “
”

a)   
b)   
c)   
d)   
e) 

34. 




a)  b)  c) 
d)  e) 

35. 
i) 
ii) 
iii) 


iv) 
a) i ii
b) i iii c) iii iv
d) ii iv e) 

36.  
a) 
b) 
c) 
d) 
e) 

37. 
a)   


b)   

 
c)   


d)   


A B C D A B C D

a) 1 2 3 4 b) 3 4 2 1
c) 3 1 2 4 d) 2 4 1 3
e) 

38. 


a) 



b) 



c) 



d) 


e) 

39. 
a) 

    


b) 
c) 
d) 
e) 

40. “” 

a) 
b) 


c) 
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d) 
e) 

41. 
 

A)   
B)   
C)   
D)   

A B C D A B C D
a) 4 3 2 1 b) 4 3 1 2
c) 3 4 1 2 d) 3 4 2 1
e) 

42. 


a)  b)  c) 
d)  e) 

43. “ 
”

a)  b) 
c)  d) 
e) 

44. 


a) 
b) 
c) 
d) 
e) 

45. 
‘’

a) 
b) 
c) 
d) 
e) 

46.    

a) 
b) 
c) 
d) 
e) 

47. ‘  ’

a)  b) 
c)  d) 
e) 

48. 
A) First deserve,  

then desire 
B) Tit for tat  
C) Work is worship  


D) Little strokes fell  

great oaks
A B C D A B C D

a) 2 4 3 1 b) 3 4 2 1
c) 1 3 4 2 d) 4 3 2 1
e) 

49. 

a) 
b) 
c) 
d) 
e) 

50. “
”

a)   
b)   
c)   
d)   
e) 

51. 
a) 
b) 
c) 
d) 
e) 

52. ‘’   

a) 
b) 
c) 
d) 
e) 

53.  I  II   
   


 I  II
a) 

  
c) 

  
c)   
d) 

  
A B C D A B C D

a) 1 2 3 4 b) 2 3 4 1
c) 4 1 2 3 d) 3 4 1 2
e) 

54. ‘ ’

a) 
b)  c) 
d)  e) 
e) 

55. ‘’
a) 
b) 
c) 
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d)     


e) 
56. 

a)  


b) 


c) 
d) 
e) 

57. 
 I  II

a)    


b)    


c)   
d)   


A B C D A B C D

a) 2 3 4 1 b) 3 4 2 1
c) 1 2 3 4 d) 4 1 2 3
e) 

58. 
a) 
b) 


c)     


d) 


e) 

59.  

a)  b) 
c)  d) 
e) 

60. 
a)     


b) 
c) 
d) 
e) 

61. “
”
    

a) 
b) 
c) 
d) 
e) 

62. 
 

      


a) 
b) 
c) 
d) 
e) 

63. 
a)  b)  c) 
d)  e) 

64.  
a)  b)  c) 
d)  e) 

65. III


 I  II
A)   
B)   
C)   
D)   

A B C D A B C D
a) 3 1 4 2 b) 1 2 3 4
c) 1 3 4 2 d) 3 2 4 1
e) 

66. “
”

a) 
b) 
c) 
d) 
e) 

67. 
a) 
b) 
c) 
d) 
e) 

68. 
  

a) 
b) 
c) 
d) 
e) 

69.   


a)  b) 
c)  d) 
e) 

70. 
 (A)
 (R)    


a) (A) (R) (R) 
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(A) 
b) (A)  (R)(R) 

(A) 
c) (A) (R) 
d) (A) (R)
e) 

71. 
‘’


a) 
b)   


c) 
d)     


e) 

72. 
(A)“”

(B)
     

a)  (A)  (B)    (B)

(A)
b) (A) (B) 
c)  (A) (B) 
d) (A) (B) (B) 

(A)
e) 

73. 
 (A) 
 (B)      



a) (A) (B) (B) (A)


b) (A) (B) 
c) (A) (B) (B) (A)


d) (A) (B) 
e) 

74. 
 


 
 


 
a)  b)  c) 
d)  e) 

75. “”

a)  b)  c) 
d)  e) 

76. ‘
’ 


a) 
b) 
c) 
d) 

e) 

77. “”



a) 

b) 

c) 

d) 

e) 

78. “  ” 





a) 

b) 

c) 

d) 

e) 

79. 

a) 



b)     







c) 

d) 

e) 

80. 

a) 

b) 



c) 

d) 

e) 

81. ‘’

a)  b) 

c)  d) 

e) 

82. 



a)  b) 

c)  d) 

e) 

83. “

”



a)   

b)   

c)   

d)   
e) 
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84.    

a)  b) 
c)  d) 
e) 

85. ‘  ’    

a) 
b) 
c) 
d) 
e) 

86. ‘Charity begins at home’ 

a) 
b) 
c) 
d) 
e) 

87. 
a) 


b) 


c)  


d) 
e) 

88. “
”

a)  b) 
c)  d) 
e) 

89. 
 I  II

a)   



b)   
c)   
d)   

A B C D A B C D
a) 1 2 3 4 b) 4 3 2 1
c) 2 1 4 3 d) 2 3 4 1
e) 

90. 


a) 
b) 
c) 
d) 
e) 

91. 
I. 
II. 

III. 
IV. 

a) I&III b) II&IV c) III&IV
d) II&III e) 

92. ‘’
a)  b)  c) 

d)  e) 
93. ‘

’  


a)  b)  c) 
d)  e) 

94. 

a) 

b) 

c) 

d) 

e) 

95. 

   



a) 

b) 

c) 

d) 

e) 

96. 

 

 

 

 

a) 1, 2, 4 b) 3, 4 c) 2, 3, 4

d) 1, 3, 4 e) 

97. 



a) 

b) 

c) 

d) 

e) 

98. 

‘’

a) 

b) 

c) 

d) 

e) 

99. “

”



a)   

b)   

c)   

d)   

e) 

100. 



a)  b)  c) 

d)  e) 
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1. Synonyms of harsh
a) Rough b) Smooth c) Ductile
d) Light e) Answer not known

2. Synonyms of doth
a) Doing b) Does c) Done
d) Did e) Answer not known

3. Synonyms of whisper
a) Harsh voice b) Gruff voice c) Angry voice
d) Low voice e) Answer not known

4. Synonyms of accents
a) Disinterest b) Emphasise c) Annotate
d) Degrade e) Answer not known

5. Synonyms of anxious
a) Feeling worried b) Showing worry
c) Feeling happy d) Both (a) and (b)
e) Answer not known

6. Synonyms of grieve
a) Happy b) Anger c) Protect
d) Sorrow e) Answer not known

7. Replace the underlined British word with its Ameri-
can equivalent.
Children like Sweets.
a) Cookies b) Crisps c) Sweets
d) Candy e) Answer not known

8. Synonyms of endure
a) Enjoy b) Suffer patiently c) Murmur
d) Grean e) Answer not known

9. Synonyms of toiled
a) Enjoyed b) eleborate c) Work hard
d) Disappear e) Answer not known

10. Synonyms of vain
a) Happy b) Producing no results
c) No enjoyment d) Untiring
e) Answer not known

11. Synonyms of stubborn
a) One  willing to change one’s opinion.
b) One refusing to change one’s opinion
c) One desiring to change one’s opinion
d) One wanting to change one’s opinion
e) Answer not known

12. Synonyms of strife
a) Disagreement b) Peace c) Tranquility
d) Sorrow e) Answer not known

13. Synonyms of eternity
a) Grand b) Beautiful c) Endless, no end
d) Profected e) Answer not known

14. American English word for “Aeroplane”.
a) Aeroplane b) Airplain c) Airplane
d) Aerplane e) Answer not known

15. American English word for Neighbour?
a) Neighbour b) Neighbor c) Neighbour
d) Neighbore e) Answer not known

16. American English word for Apologise.
a) Apology b) Apologra c) Apologize
d) Apolo e) Answer not known

17. American English word for Dialogue?
a) Dialogue b) Dialog c) Dialogues
d) Dialock e) Answer not known

18. American English word for Programme?
a) Programm b) Program c) Programes
d) Programes e) Answer not known
Direction (19 -  26)
Answer the following questions from “your Space”

19. It is better far to rule by ______ , than  ______
a) Love, Fear b) Fear, Love c) Fear, peace
d) Fear, hatred e) Answer not known

20. Teach it in accents ______and______
a) Harsh, mild b) Harsh, loud c) Soft, loud
d) Soft, mild e) Answer not known

21. Let no _____ tone be ______.
a) Soft, listened b) bright, listened
c) Harsh, heard d) Harsh, neglected
e) Answer not known

22. They may have _____ in ______.
a) Suffered, use b) Toiled, vain
c) Fought, use d) Gained, vain
e) Answer not known

23. American English for barrister.
a) Lawyer b) Attorney c) Advocate
d) Barristor e) Answer not known

24. The _____ of ______ are nearly run.
a) Sands, deserts b) Sands, Ocean
c) Sands, hills d) Sands, life
e) Answer not known

25. American English for anti clockwise
a) Opposite clockwise b) Counter clockwise
c) Wrong clockwise d) Both (a) and (b)
e) Answer not known

26. Match the following: (Rhyming words)
A. Kind - 1. Gain
B. Remain - 2. May
C. They  - 3. Bind

A B C A B C
a) 1 2 3 b) 3 1 2
c) 2 1 3 d) 3 2 1
e) Answer not known

27. Speak gently! -Love doth whisper low
The vows that true hearts bind;
And gently Friendship’s accents flow
Affection’s voice is kind.
How does love speak?
a) Low whisper b) Hard whisper
c) Harsh whisper d) Bright whisper
e) Answer not known

28. What do vows of love do?
a) Bind false hearts b) Bind false minds
c) Bind true minds d) Bind true hearts
e) Answer not known

29. American English for “cinema” is
a) Film b) Films c) Movies
d) Cini e) Answer not known

General English (100)
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30. How is the voice of affection?
a) Friendship b) Kind c) Affection
d) Hearts e) Answer not known

31. Speak gently! – ’tis a little thing
Dropped in the hearts deep well;
The good, the joy, which it may bring,
Eternity shall tell.
What is a‘little thing?
a) Speaking gently b) Speaking harshly
c) Speaking smoothly d) Speaking angrily
e) Answer not known

32. Where should we drop the gentle words?
a) Deep in the hearts b) Shellow in the hearts
c) Narrow in the hearts d) Above in the hearts
e) Answer not known

33. What do gentle words in our deep hearts bring?
a) Good b) Joy c) Peace
d) (a) and (b) e) Answer not known

34. Till when will the goodness and joy last?
a) Many years b) Some years c) Eternity
d) Decades e) Answer not known

35. “They have enough they must endure”.Who are
‘they’?
a) Young b) Old c) Weak
d) Poor e) Answer not known

36. Speak gently to the aged one,
Grieve not the care-worn heart;
The sands of life are nearly run,
Let such in peace depart!
Pick out the poetic devices used here.
a) Metaphor b) Simile c) Assonance
d) Oxymoron e) Answer not known

37. Speak gently! – ’tis a little thing
Dropped in the heart’s deep well;
The good, the joy, which it may bring,
Eternity shall tell.
Pick out the rhyming scheme of this stanza?
a) aaaa b) abab c) aabb
d) abcb e) Answer not known

38. Replace the underlined word with its American
equivalent.
She hired a taxi to the airport.
a) Cycle b) Cab c) Bike
d) Tricycle e) Answer not known

39. Speak gently! - Love doth whisper low
The vows that true hearts bind;
And gently Friendship’s accents flow;
Affection’s voice is kind.
The word “vows” meand
a) Friend b) Pledges c) Gain
d) Toil e) Answer not known

40. Where was David Bates born?
a) Mass Hill, Ohio b) Cleveland
c) Indian Hill, Ohio d) Maryland
e) Answer not known

41. When was David Bates born?
a) March 16, 1809 b) March 6, 1809
c) March 8, 1809 d) March 9, 1809
e) Answer not known

42. When did he publish a volume of poetry called “Eo-
lian”?
a) 1849 b) 1848 c) 1850
d) 1851 e) Answer not known

43. Which was parodied by Lewis Carroll in Alice’s Adven-
tures in wonderland?
a) Speak Harshly b) Speak well
c) Speak Gently d) Speak strongly
e) Answer not known

44. David Bates was educated in __________
a) Mass Hill, New york
b) Buffalo, NewYork
c) Times square, New york
d) Public square, New york
e) Answer not known

45. David Bates first worked in _______
a) Phoenix b) Arizona c) Indianapolis
d) California e) Answer not known

46. David Bates then worked in ___________
a) Philadelphia b) Phoenix c) Arizona
d) California e) Answer not known

47. Kalpana was Assigned in STS - 87 columbia in 1996 as
a ________.
a) Mission specialist b) Mission Head
c) Captain d) Protector
e) Answer not known

48. The American English equivalent of the word
‘washbasin’ is
a) Zee b) Wash room c) Wash tank
d) Sink e) Answer not known

49. Identify the word pair which is different in
pronunciation in British English and American English
usage:
a) Cheque - check b) Metre - meter
c) Schedule - schedule d) Licence - License
e) Answer not known

50. Speak gently! – It is better far
To rule by love, than fear
Speak gently – let not harsh words mar
The good we might do here!
The word “Mar” means?
a) Fight b) Endure c) Spoil
d) Gain e) Answer not known

51. Window shade’ in American English is ______ in Brit-
ish English.
a) Wind screen b) Window c) Blind
d) Wind e) Answer not known

52. Identify the pair of British English and American En-
glish expressions with incorrect spelling:
a) Plough - Plow b) Cheque - Check
c) Theatre - Theaterd) Skilful - Skilfull
e) Answer not known

53. Kalpana was Inspired by ______ who flew the I st
mail flights in India.
a) JRD Tata b) Sanjay
c) Adani d) Jean Harrison
e) Answer not known
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54. ______ University engineering from Texas Master of
science in degree in aero space.
a) 1984 b) 1985 c) 1986
d) 1987 e) Answer not known

55. Find out the British English equivalent of “fall”.
a) Winter b) Summer c) Spring
d) Autumn e) Answer not known

56. Replace the underlined British word with its Ameri-
can equivalent. She is having a holiday.
a) Vacation b) Vocation c) Package
d) Permission e) Answer not known

57. Kalpana Married ________.
a) Jean - Pierre Harrison
b) Adani c) Sanjay
d) JRD Tate e) Answer not known

58. American English for diversion is
a) Change b) Turn c) Detour
d) Direction e) Answer not known

59. Match the following: (Rhyming words)
A. far - 1. flow
B. fear - 2. mar
C. low - 3. here

A B C A B C
a) 2 3 1 b) 1 2 3
c) 3 1 2 d) 1 3 2
e) Answer not known

60. Sweater’ in American English is _______ in British
English.
a) Jumper b) Waist coat c) Shirt
d) Germent e) Answer not known

61. Match the British English word with their
American equivalents:
A. Tail back 1. Closet
B. Return Journey 2. Faucet
C. Water tap 3. Round trip
D. Wardrobe 4. Traffic jam

A B C D A B C D
a) 1 2 3 4 b) 3 2 1 4
c) 2 3 4 1 d) 4 3 2 1
e) Answer not known

62. American English for flat tyre.
a) Flat liar b) Flat tire c) Flat car
d) Flat out e) Answer not known

63. American English equivalent for ‘juggernaut’is _____.
a) Jug b) 18 - wheeler c) Can
d) Trash e) Answer not known

64. Find out the American English equivalent of ‘cot’.
a) Cotton b) Thread c) Vest
d) Crib e) Answer not known

65. American english for ground floor is
a) Bottom floor b) First floor
c) Underground d) Both (a) and (b)
e) Answer not known

66. Laura presented a Wallet to her friend Replace the
underlined word with its American
equivalent?
a) Flash light b) Billfold c) Closet
d) Crib e) Answer not known

67. Choose the American English equivalent of the word
‘freight car’
a) Van b) Wagon c) Tempo
d) Truck e) Answer not known

68. What is the American English word for the British
English word, ‘Terminus’?
a) Final b) Depot c) Bus stand
d) Shop e) Answer not known

69. Replace the underlined word with its American
equivalent.
The post came late.
a) Letter b) News c) Message
d) Mail e) Answer not known

70. American English equivalent for ‘puncture’ is _____.
a) Flat - Out b) Blast - Out c) Blow - Out
d) Crash out e) Answer not known

71. ‘Car park’ in British English is ______ in American
English.
a) Parking space b) Parking fees
c) Parking plot d) Parkinglot
e) Answer not known

72. Replace the underlined word with its American
equivalent.
He lives in a flat.
a) Hotel b) Cottage c) Apartment
d) Bungalow e) Answer not known

73. _____ Kalpana Graduated from Tagore School,
Karnal.
a) 1976 b) 1977 c) 1978
d) 1979 e) Answer not known

74. Replace the underlined word with its American
equivalent.
I like to eat Maize.
a) Candy b) Chips c) Corn
d) Cookies e) Answer not known

75. Kalpana Chawla was born on 1 of July ____.
a) 1961 b) 1962 c) 1963
d) 1964 e) Answer not known

76. The right American English equivalent of the word,
‘Chemist’ is
a) Drugger b) Drapier c) Druggist
d) Narcissist e) Answer not known

77. Replace the underlined British word with its Ameri-
can equivalent.
Vidhya is eating Chips.
a) Snacks b) French Fries c) Cookies
d) Candies e) Answer not known

78. Kalpana means _______.
a) Imagination b) Stars c) Heaven
d) Sky e) Answer not known

79. Replace the underlined British word with its American
equivalent.
This lift is meant for VIP’s.
a) Lift b) Escalator c) Elevator
d) Stair case e) Answer not known

80. ______ Kalpana started work at NASA Ames Research
Center.
a) 1988 b) 1989 c) 1990
d) 1991 e) Answer not known
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81. Change the British English word replacing the Ameri-
can English Karan dried the nappy.
a) Coat b) Truck c) Diaper
d) Mail e) Answer not known

82. Choose the correct American English word for the
underlined British English word of the following sen-
tence.
I take Jam and butter with bread as breakfast.
a) Fruit mixture b) Jelly c) Fruit juice
d) Fruit paste e) Answer not known

83. Replace the underlined British word with its Ameri-
can equivalent.
The lorry met with an accident.
a) Van b) Truck c) Cab
d) Car e) Answer not known

84. Replace the underlined British word with its Ameri-
can equivalent.
This is a handbag made of leather.
a) Bag b) Pouch c) Purse
d) Wallet e) Answer not known

85. Synonyms of depart
a) Leave b) Arrive c) Emphasise
d) Begin e) Answer not known

86. Replace the underlined British word with its Ameri-
can equivalent.
The hike in the price of Petrol is resented.
a) Fuel b) Gasoline c) energy
d) Petrol e) Answer not known

87. Pick out British word for American word.
Bonnet.
a) Bayonet b) Hood c) Engine
d) Suspension e) Answer not known

88. Choose the American English equivalent of the word
“Goods train”.
a) Carriage train b) Freight train
c) Baggage train d) Luggage train
e) Answer not known

89. The American English equivalent of the word
‘Pavement’ is
a) Pathway b) Sidewalk c) Corridor
d) Passage e) Answer not known

90. Replace the underlined British word with its Ameri-
can equivalent It is dark.
Get me a torch.
a) Torch light b) Long light c) Flash light
d) Stop light e) Answer not known

Comprehension ( 91 - 95)
It is said that the earliest hospitals known to mankind were
those provided by the Buddhist priests in India. In the
middle ages, the Christian Monks made it part of their
duty to tend the sick. But most of  the modern hospitals,
both  in  India and  in Europe, are  founded and supported
either by the government or by the rich benefactors of
mankind. Now there is hardly a town in India which has
not at  least one hospital.  In big cities  like Mumbai, Delhi,
Kolkata and Chennai,  there are separate hospitals  for
men and women and children, and  for different diseases.
These hospitals are staffed with  physicians  and  surgeons
and  are  provided with  up-to-date medical  and  surgical
instruments. In these hospitals, even the poorest, who
cannot afford the doctor’s fees, are treated free, and get
the best medical aid and  the  service of  trained nurses  for
nothing.

91. How did  the earliest hospitals originate?
a) Christian priests b) Buddhist priests
c) Christian monks d) Sikh monks
e) Answer not known

92. Under whose  support do  the modern hospitals  in
India and  in Europe  function?
a) Government b) Rich benefactors
c) Poor people d) Both (a) and (b)
e) Answer not known

93. State whether the following sentence is True or False.
Almost every Indian town has a hospital now.
a) True b) False c) a (or) b
d) None of these e) Answer not known

94. Describe  the  facilities available  in hospitals  in big
cities.
a) Separate hospitals for men
b) Separate hospitals for different diseases
c) Separate hospitals for women
d) All of these
e) Answer not known

95. In the big cities the poorest are offered _____ treat-
ment.
a) Expensive b) Costly c) Free
d) Rich e) Answer not known

Comprehension ( 96 - 100)
In modern world, honesty has lost its meaning. Wealth
plays an important role in man’s life today. Value of money
has gone high. All  religions  lay down great  stress on
honesty.

 Honesty should be maintained everywhere, at home, in
school, among friends and even in the playground.

An honest person always obeys  the  law, so he  is  free
from  trouble. Honesty gives  rise  to spiritual stength.

The life of Mahatma Gandhi, the Father of our Nation is
an example. Since his childhood, he tried to remain hon-
est and truthful. Dishonesty gives benefits sometimes but
those benefits are temporary. It kills our soul and snatches
away our peace of mind. It is not an easy job to remain
honest  in  this world.

96. What  is being  ignored a  lot  in  today’s world?
a) Bravery b) Truth c) Protection
d) Honesty e) Answer not known

97. Honesty should be maintained
a) Everywhere b) At home c) In school
d) All of these e) Answer not known

98. How  is an honest person  free  from  trouble?
a) Obeys everthing b) Disobeys traffic
c) Obeys laws d) Protects rules
e) Answer not known

99. Since his childhood, he tried to remain honest and
faithful.
Here “His” refers to
a) Nehru b) Ambedkar c) Gandhi
d) Lawyer e) Answer not known

100.State whether  the  following  statement  is  true  or
false.  Honesty  kills  our  soul  and snatches away our
peace of mind.
a) True b) False c) a and  b
d) None of these e) Answer not known
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101.
1 3

5 +
2 4

 of 
8

9


1 3
5 +

2 4


8

9


a)
6

1
7 b)

6

1
8 c)  

6

1
9 d)

1
6

6

e) Answer not known / 
102.There are 50 students in a class. If 14% are absent on

a particular day, find the number of students present
in the class.
  




a) 42 b) 43 c) 48 d) 47
e) Answer not known / 

103.Ravi bought a curtain of length 
4

3
15 m. If he cut the

curtain into small pieces each of length 
4

1
2 m, then

how many small curtains will he get?

15
4

3
 

  
4

1
   



a) 9 b) 8 c) 7 d) 10

e) Answer not known / 

104.Barathan offers his customers a discount of `50 on

each shirt and still makes a profit of `100 per shirt.

What is the actual cost price of the shirt that is marked

@ `800 ?

    



      



a) 650 b) 500 c) 65 d) 550

e) Answer not known / 

105.The ratio of 6th and 8th term of an A.P. is 7 : 9. Find the

ratio of 9th term to 13th term.

     

7 :9 913 



a) 8 : 5 b) 7 : 5 c) 5 : 7 d) 5 : 8

e) Answer not known / 

106.Wilson, Mathan and Guna can complete one round

of a circular track in 10, 15 and 20 minutes respec-

tively. If they start together at 7 a.m from the start-

ing point, at what time will they meet together again

at the starting point?

a) 6 am b) 8 am c) 9 am

d) 10 am e) Answer not known

  











a)  b) 

c)  d) 

e) 

107.Find the area of rhombus PQRS shown in the follow-

ing figures.(cm2)
(2)

  

a) 64 b) 16 c) 8 d) 96
e) Answer not known / 

108.Simplify/ 
9

1
16

a) 1
2

3
b) 1

1

4
c) 1

3

4
d) 6

e) Answer not known / 

109.The volumes of two cones of same base radius are

3600 cm3 and 5040 cm3. Find the ratio of heights.







a) 5 : 7 b) 7 : 5 c) 8 : 7 d) 2 : 7

e) Answer not known / 

110.Simplify / nnn

nnn

3032

632
23

3





a)
n

3n n

3

2 5
b)

n

2n n

3

2 5



 
c)

n

n 5n

3

5 2
d) 

n

2n n

3

2 5

e) Answer not known / 

111.Find the rate of compound interest at which a princi-

pal becomes 1.69 times itself in 2 years.

      





a) 20% b) 30% c) 35% d) 40%

e) Answer not known / 

Aptitude (25)
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112. In the given figure, find the area of the shaded por-

tion if AC = 54 cm, BC = 10 cm, and O is the centre of

bigger circle.(cm2)

O

AC = 54BC = 10  



a) 760 b) 770 c) 790 d) 780

e) Answer not known / 

113.A works 3 times as fast as B and is able to complete a

task in 24 days less than the days taken by B. Find the

time in which they can complete the work together.

A B

B 







a) 19 days/ b) 9 days/

c) 20 days/ d) 29 days/

e) Answer not known / 

114.Aravind borrowed a sum of ̀ 8,000 from Akash at 7%

per annum. Find the interest and amount to be paid

at the end of two years.

`  



    



a) 1120, 9120 b) 1200, 920

c) 1240, 9240 d) 1500, 9500

e) Answer not known / 

115. If + means x, - means +, x means  and   means - then

the value of 6 - 9 + 8 x 3  20 is

+  x, -  +, x       - 

6 - 9 + 8 x 3  20 

a) 10 b) 6 c) -2 d) 12

e) Answer not known / 

116. If n is a natural number then n   is

a) always a natural number.

b) always an irrational number.

c) always a rational number

d) may be rational or irrational

e) Answer not known

n  n 

a) 

b) 

c) 

d) 

e) 

117.The population of a village increases at the rate of 7%

every year. If the present population is 90,000 what

will be the population after 2 years?





    



a) 1,03,041 b) 2,03,041

c) 3,03,041 d) 1,03,551

e) Answer not known / 

118.The product of a non-zero whole number and its suc-

cessor is always

a) an even number b) an odd number

c) zero d) None of these

e) Answer not known





a)  b) 

c)  d) 

e) 

119. In a single throw of a die, the probability of getting a

multiple of 3 is





a)
1

2
b)

1

3
c)

1

6
d)

2

3

e) Answer not known / 

120. If the cube of a squared number is 729, find the square
root of that number.





a) 2 b) 7 c) 3 d) 12

e) Answer not known / 

121.Find the number  of days between 12th January 2004

and 7th March 2004.





a) days/  b) days/

c) days/  d) days/ 

e) Answer not known / 

122.The difference between the successor and the
predecessor of 99999 is

99999 

a) 90000 b) 1 c) 2 d) 99001

e) Answer not known / 
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126.Visiting Tajmahal of India is an example of _____
a) Adventure tourism b) Historical tourism
c) Devotional tourism d) Eco-tourism

e) Answer not Known




a)  b) 

c)  d) 

e) 
127.Consider the following statements and choose the

correct statement/s.

1. The Irula tribes of Tamilnadu occupy the lower

slopes and forests at the base of the nilgiri hills.

2. They are the food gathering communities of

Tamilnadu.





 

   



 



a) 1 only/ b) 2 only/

c) 1 & 2/ d) None/

e) Answer not Known/
128.The Indian language “Munda” is classified under which

of the following linguistic family?

a) Austric b) Dravidian c) Sino-Tibetan

d) Indo-Aryan e) Answer not Known
‘’



a)  b) 

c)  d) 

e) 
129.Dr.Baba Saheb Ambedkar Interntional airport is

located at ______?

a) Jaipur b) Nagpur c) Gauhati

d) Portblair e) Answer not Known




a)  b)  c) 
d)  e) 

130.Consider the following statement & choose the
correct statement/s
1. Rubber plantation were first established in Kerala

in 1902.
2. It needs hot and wet climatic condition.


 


     


a) 1 only/ b) 2 only/
c) 1 & 2/ d) None/
e) Answer not Known/

131.Match the following
A) Yaas 1. Nature
B) Nisarga 2. Tiger
C) Amphan 3. sky
D) Kyarr 4. Jasmine

A)   
B)   
C)   
D)   

A B C D A B C D
a) 4 1 3 2 b) 3 4 1 2
c) 4 3 2 1 d) 2 1 4 3
e) Answer not known/

132.Which of the following pairs is incorrectly matched.
a) Eastern Railways - Kolkatta
b) North west Railways - Jaipur
c) South west Railways - Hubli
d) North Central Railways - Delhi
e) Answer not Known

a) 

b) 

123. If m : n = 3 : 2, find the ratio 
4 5

4 5

m n

m n





m : n = 3 : 2 
4 5

4 5

m n

m n



 

a) 10 : 11 b) 22 : 3 c) 13 : 5 d) 11 : 1

e) Answer not known / 

124.A mat of length 180 m is made by 15 women in 12

days. How long will it take for 32 women to make a

mat of length 512 m?

   





a) 14 b) 16 c) 26 d) 36

e) Answer not known / 

125.Three numbers are in the ratio 2 : 5 : 7. If the first

number, the resulting number on the subtraction of

7 from the second number and the third number form

an arithmetic sequence, then find the numbers.

    







a) 14, 70, 98 b) 28, 63, 98

c) 28, 70, 98 d) 34, 85, 119

e) Answer not known / 

General Studies (25)
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c) 
d) 

e) 
133.Consider the following statements :

1. Bushman is the tribal people of Kalahari Desert in
the Southern Africa

2. The Pigmies are Negroid people and are also called
Negrillos.

3. The Masai occupy the interior plateau of the
equitorial Africa

Which of the above mentioned statements is/ are
wrong ?
a) 1 and 2 b) 2 and 3 c) 1 ,2,3
d) None of these e) Answer not known

  


 


     




a)  b)      c)  
d)  e) 

134.Consider the following statements
1. 1 Dobson unit 0.01 atm.cm
2. Total Ozone layer over the Earth surface is 3 cm

thick.
Which of the above mentioned statements is/ are
correct ?
a) 1 Only   b)  2 Only            c) Both 1 and 2
d) Neither 1 nor 2  e)  Answer not known

 atm.cm
 




a)  b)  c) 

d)  e) 
135.Match the following

(Disease caused by Water pollution)
A) Minamata 1. Arsenic
B) Itai Itai 2. Methyl Mercury
C) Blue Baby Syndrome 3. Cadmium
D) Black foot disease 4. Nitrates


A)   
B)   

C)   
D)   

A B C D A B C D

a) 4 3 2 1 b) 2 3 4 1

c) 2 1 4 3 d) 4 2 1 3

e) Answer not known/

136.When National Highways Authority of India was

established?

   



a) 1991 b) 1992 c) 1994 d) 1995

e) Answer not Known/
137.Which air pollutants affects children particularly and

also damages their nervous system?

a) SO
2

b) SO
3

c) Hydrocarbon

d) Lead e) Answer not Known




a) SO
2

b) SO
3

c) 

d)  e) 
138.Match the following

A) 1st generation 1. Integrated circuit

B) 2nd generation 2. Microprocessor

C) 3rd Generation 3. Transistors

D) 4th Generation 4. Vacuum tubes



A)   

B)   

C)   

D)   

A B C D A B C D

a) 4 3 1 2 b) 3 4 2 1

c) 2 3 4 1 d) 2 1 3 4

e) Answer not known/
139.The density of population of Tamilnadu is classified as

_____
a) Very low density b) Low density
c) Moderate density d) High density
e) Answer not Known
    

a)  b) 
c)  d) 

e) 
140.Consider the following statement

1. In Tamilnadu, the total amount of wind energy

produced is about 1,208 Megawatt per year.

2. Aralvaimozhi a wind farm located in Kanyakumari

district in Tamilnadu is the world’s largest

windfarm.

Which of the above mentioned statements is/ are

correct ?

a) 1 Only b) 2 Only            c) Both 1 and 2

d) Neither 1 nor 2e) Answer not known



  



 





a)  b)  c) 

d)  e) 
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141.Who is the head of National Disaster Management
Authority ?
a) Prime Minister b) President
c) Chief Minister d) Environment Minister
e) Answer not known

a)  b) 
c)  d) 
e) 

142.Match the following :
A) Zaid season 1. October - March
B) Rabi season 2. April - June
C) Kharif season 3. June - September

A)   
B)   
C)   

A B C A B C
a) 2 3 1 b) 3 1 2
c) 3 2 1 d) 2 1 3

e) Answer not Known/

143.Transhumance is the another example of _______
a) Seasonal Migration b) Voluntary Migration
c) Forced Migration d) Internal Migration
e) Answer not known
_____ 

a)  b) 
c)  d) 
e) 

144.Arrange the following states with respect to its area
of well irrigation from top to bottom.
Punjab, Rajasthan, Gujarat, Madhya Pradesh, Uttar
Pradesh
a) Uttarpradesh, Gujarath, Madhya Pradesh,

Rajasthan, Punjab
b) Punjab, Rajasthan, Madhya Pradesh, Gujarat,

Uttarpradesh
c) Uttarpradesh, Madhyapradesh, Rajasthan,

Gujarath, Punjab
d) Punjab, Madhyapradesh, Gujarat, Rajasthan,

Uttarpradesh
e) Answer not Known
  

   

a)  


b)    


c) 


d)    



e) 

145.Consider the following statements about SAMEER App :

1. It was developed by central pollution control

board.

2. Which translates to ‘Air’ in Sanskrit word

Which of the above mentioned statements is/ are

correct ?

a) 1 Only b) 2 Only c) Both 1 and 2

d) Neither 1 nor 2 e) Answer not known



 

 ‘’



a)  b)  c) 

d)  e) 

146.What is the percentage of area under canal irrigation

in our country?





a) 15% b) 24% c) 30% d) 32

e) Answer not Known/
147.Which one of the following ports is not located in the

western coast?

a) Kandla b) Jawaharlal Nehru Port

c) Paradip d) Marmagoa

e) Answer not Known
   



a) 

b) 

c) 

d) 

e) 
148.World cultural diversity day is celebrated on _____

a) 11th July b) 21st May c) 21st February

d) 3rd January e) Answer not Known


a)  b)  c) 

d)  e) 
e) Answer not Known/

149.The Seismic zone III refers that the level of risk is ___

a) Very high b) high c) Moderate

d) Low e) Answer not Known
III



a)  b)  c) 

d)  e) 
150.Population Age sex pyramids are otherwise called as

a) Male - Female pyramid b) Birth-death pyramid

c) Population growth pyramid

d) Age-sex pyramid e) Answer not known

     



a)  b) 

c) 
d)  e) 


